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Consider a market with two firms that sell identical products. Firm 1 has a

constant marginal cost of 1, and Firm 2 has a constant marginal cost ot 2. The

market demand is given by Q = 15 — p, where Q and p represent quantity and
price, respectively.
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a. (7 %)

Solve for the Cournot equilibrium price, quantities, and profits.

b. (7 &)

What is the Stackelberg equilibrium price, quantities, and profits when Firm
| moves first?

c. (7 %)

If the firms merge and produce at the lower marginal cost, find out the
equilibrium price, quantities, and profits (shared by two firms).

d. (6 »)

Discuss and compare the welfare effects in these three cases.

4. (8 #)
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Denote QQ to be quantity and p to be price, Sarah's demand for routine medical
visitsis Q = 10 — 0.2p when she is healthy and Q = 20 — 0.2p when she 1s
sick. Medical visits cost $50 each 1f Sarah has no medical insurance. She 1s sick
20% of the time. Sarah is considering two different insurance plans. One offers
free medical visits; the other plan costs less up front but requires that Sarah pay
$5 per medical visit. Compare the two plans in terms of the trade-otf between
risk and moral hazard.



